
CITROËN
AX
                                                                                        
AX                                                                                                    07/1986 - 12/1998

17PE0500

3 4

1 1

22

17PE0501

10CT2500 10CT2500

10PE2500 10PE2500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

95 603 309 

96 093 233 

3817 41 

3817 42 

Ball Joint 

Ball Joint Lower 

Tie Rod End Left 

Tie Rod End Right 

c:Ø15   do:Ø36,9 

do:Ø36,9 

c:Ø12,12 th:MM14x1,5 RHT 

c:Ø12,12 th:MM14x1,5 RHT 

10CT2500 

10PE2500 

17PE0500 

17PE0501 



CITROËN
AXEL
                                                                                        
AXEL                                                                                                 10/1981 - 03/1991

10CT1001

2

3

4

1 1

3

5

10CT1001

10CT1005 10CT1005

17CT10 20CT10 17CT10

29CT10 29CT10

20CT10

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

75 492 489 

75 492 458 

75 492 108* 

75 492 108* 

75 492 108 

Ball Joint Upper 

Ball Joint Lower 

Tie Rod End 

Axle Joint 

Tie Rod 

th:M10x1.25 RHT  cp:1/6 cs:Ø11,8 do:Ø38,4 

th:M10x1.25 RHT  cp:1/6 cs:Ø11,8 do:Ø36,4 

c:Ø10,6 th:MM14x1,5 RHT 

th:MM12x1 RHT L:156mm 

 

10CT1001 

10CT1005 

17CT10 

20CT10 

29CT10 

5



CITROËN

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
4
5
6
7
8

3520 H5
3817 50 
3812 C0 
5087 46
3521 E6
3520 H6 

Ball Joint
Tie Rod End c:Ø11,95 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:334mm 

L:300mm  

 

 
TCA Left
TCA Right

Axial Joint
Stabiliser Link

10CT0100
17PE1502
20PE1100
26CT0300
30CT1015
30CT1016

6

5

44

11

MS - Ø16

8 7

                                                                                        
BERLINGO (M49M59) 07/1996  03/2008-

BERLINGO

26CT030026CT0300

20PE1100 20PE1100

30CT1015

10CT010010CT0100

30CT1016

17PE1502 17PE1502
v



CITROËN

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2
3
9
10
11
12

13
14

3520 H5*
3640 51

 3521 E6*
3520 H6 *
3521 71 
3520  A1 
3523 75
3523 75*

Ball Joint
Ball Joint

TCA Left
TCA Right

Silentblock for TCA
Silentblock for TCA di:Ø18,7  

di:Ø18,7  

TCA Right
TCA Left

10CT0200
10PE1100
30CT1020
30CT1021
30PE1030
30PE1031

38CT0208
38CT0210

22

MS - Ø18

10 9

BERLINGO (M49M59) 07/1996  03/2008-

30CT1020

10CT0200 10CT0200

30CT1021

V

33

MS - PS Ø18

12 11

13 14

30PE1030

10PE1100 10PE1100

30PE1031

38CT0208 38CT0210

BERLINGO



CITROËN
BERLINGO
                                                                                        
BERLINGO (B9)                                                                                            04/2008 -->
BERLINGO BOX (B9)                                                                                      04/2008 -->

26PE1105

5 6

7 7

1 1

9

8

4

2 3

23PE0800

10PE1003

23PE0801

38PE0800

38PE0605

17PE110617PE1105 20PE1105 20PE1105

26PE1105

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

3640 68 

3817 89 

3817 88 

3812 F4 

3520 S2 

3521 P3 

505087 57 

3523 92 

3523 91 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

TCA Left 

TCA Right 

Stabiliser LinkStabiliser Link 

Silentblock 

Silentblock 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,6 th2:M38x1.5 RHT 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:265mm 

   

   

L:334mm L:334mm  

di:Ø14,1 do:Ø55,3 

di:Ø14,2 do:Ø55 

10PE1003 

17PE1105 

17PE1106 

20PE1105 

23PE0800 

23PE0801 

26PE26PE1105 

38PE0605 

38PE0800 

10PE1003



CITROËN
BERLINGO
                                                                                        
BERLINGO Platform/Chassis (B9)                                                                    04/2008 -->

26PE1105

2 3

4 4

6

5

23PE0800 23PE0801

38PE0800

38PE0605

26PE1105

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

3640 68 

3520 S2 

3521 P3 

5087 57

3523 92 

3523 91 

 

Ball Joint 

TCA Left 

TCA Right 

Stabiliser Link

Silentblock for TCA 

Silentblock for TCA 

 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,6 th2:M38x1.5 RHT 

   

   

L:334mm  

10PE1003 

23PE0800 

23PE0801 

26PE1105

38PE0605 

38PE0800 

 

1 1

10PE1003
10PE1003



CITROËN

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

3817 50 

96 136 394 

3520 51  

3521 34 

17PE1502 

20PE03 

23PE1000 

23PE1001 

BX

C15

                                                                                        
BX                                                                                                     04/1983 - 12/1994

                                                                                        
C15 (VD)                                                                                           10/1984 - 12/2005                                                                                        
C15 ESTATE

26CT0500 26CT0500

2

10PE1400

17PE1502 17PE150220PE03 20PE03

23PE1000 23PE1001

EXC. ESTATE EXC. ESTATE

1

1

3 4

1

2

2

Tie Rod End c:Ø11,95 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:317,5mm 

c:Ø15,95   

c:Ø15,95   

Axial Joint

TCA Left
TCA Right

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
3640 21 

95 597 955 

10PE1400 

26CT0500 

Ball Joint 

Stabiliser Link 

 

10PE1400

1



CITROËN
C2
                                                                                        
C2 (JM)                                                                                                        09/2003 -->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

3523 98 

3817 55  

3817 56  

3812 E1 

5087 59 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

 

c:Ø18    

c:Ø12,1 th:FM14x1,5 RHT 

c:Ø12,1 th:FM14x1,5 RHT 

th:MM12x1 RHT L:237mm 

L:335mm  

10CT0600 

17CT0600 

17CT0601 

20CT0600 

26PE0600 

5 5

26PE0600

17CT0600 17CT0601
20CT060020CT0600

26PE0600

4

10CT0600

1

10CT0600

1

2 3



CITROËN
C25
                                                                                        
C25                                                                                                  07/1981 - 03/1994

17FI3000

20AR0100 20AR0100

17FI3000

10FI3000 10FI3000

3 4 3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

3640 17 

3640 26  

3817 11  

3812 27 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Axial Joint 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,79  

th:M16x1.5 RHT  cp:1/8 cs:Ø17  

c:Ø14,5 th:FM16x1,5 RHT 

th:FM18x1.5 RHT L:327mm 

10FI3000 

10FI3001 

17FI3000 

20AR0100 

1 1

> 10/1985-

10FI3001 10FI3001

2 2

10/1985 >-



CITROËN
C3
                                                                                        
C3 I (FC)                                                                                            05/2002 - 04/2014

5 5

26PE0600

17CT0600 17CT0601
20CT060020CT0600

26PE0600

4

10CT0600

1

10CT0600

1

2 3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

3523 98 

3817 55  

3817 56  

3812 E1 

5087 59 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

 

c:Ø18    

c:Ø12,1 th:FM14x1,5 RHT 

c:Ø12,1 th:FM14x1,5 RHT 

th:MM12x1 RHT L:237mm 

L:335mm  

10CT0600 

17CT0600 

17CT0601 

20CT0600 

26PE0600 



CITROËN
C3
                                                                                        
C3 II (SC)                                                                                                   11/2009 -->

20CT0610 20CT0610 17CT0611

4

10CT0610 10CT0610

38CT0300

1 1

6 6

2 3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

3640 77 

3817 92 

3817 91 

3812 F6  

5087 59 

3523 EA 

c:Ø18    

c:Ø12,2 th:FM14x1,5 RHT 

c:Ø12,2 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:244mm 

L:335mm  

di:Ø18 do:Ø55,3 

10CT0610 

17CT0610 

17CT0611 

20CT0610 

26PE0600 

38CT0300 

17CT0610

38CT0300

5 5

26PE0600 26PE0600

Ball Joint
Tie Rod End Left
Tie Rod End Right

Axial Joint

Stabiliser Link 

Silentblock for TCA



CITROËN
C3
                                                                                        
C3 III (SX)                                                                                                   07/2016 -->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
2
3
4
5
6
77

3640 65Ball Joint
Ball Joint
Ball Joint

10CT0600 
3640 7710CT0610
3640 7810PE0400
5087 59Stabiliser Link26PE0600

38CT0300
38CT0310
38CT0311

3523 EA
3523 CC
3523 CE

Silentblock for TCA
Silentblock for TCA
Silentblock for TCA

10PE0400 10PE0400

10CT0610 10CT0610

2 2

3

For Standart Susp.

For Reinforced Susp.

For Type 3 Susp. For Type 3 Susp.

For Reinforced Susp.

For Standart Susp.

5

3

38CT0300

38CT0311

38CT0310 38CT0310

38CT0311
1

10CT0600 

1

7

6

4

26PE0600 26PE0600

Type 3 Susp.

-

10CT0600 



NO ASMETAL CODE MEASURES OEMDESCRIPTION

CITROËN
C3
                                                                                        
C3 PICASSO                                                                                                 02/2009 -->

1 3640 65Ball Joint c:Ø18    
c:Ø12,1 th:FM16x1,5 RHT 
c:Ø12,1 th:FM16x1,5 RHT 
th:MM12x1 RHT L:210,5mm 
L:329mm  
L:329mm  
di:Ødi:Ø14,2 do:Ø56,6 
di:Ø14,2 do:Ø56,6 

Tie Rod End Right
Tie Rod End Left

10CT0600
2 3817 6717PE0900
3 3817 6817PE0901
4 3812 E8Axial Joint20PE0900

26PE0900
26PE0901
38CT0310
38CT0311

5
6
7
8

5087 68
5087 69
3523 CC
3523 CE

Stabiliser Link Right
Stabiliser Link Left
Silentblock for TCA
Silentblock for TCA

20PE0900 17PE0900

4

3 2

17PE0901

26PE0901 26PE0900

38CT0311

38CT0310 38CT0310

38CT0311

1 1

8

7

20PE0900

10CT0600 10CT0600

6 5



CITROËN
C3
                                                                                        
C3 PLURIEL                                                                                         05/2003 - 07/2010

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 1

10CT0600 10CT0600

5 5

26PE0600

17CT0600

17CT060120CT060020CT0600

26PE0600

4

2
3

1

2
3

4

5

3640 56Ball Joint c:Ø18    
c:Ø12,1 th:FM14x1,5 RHT 
c:Ø12,1 th:FM14x1,5 RHT 
th:MM12x1 RHT L:237mm 
L:335mm  

10CT0600
3817 55 Tie Rod End Left17CT0600
3817 56 Tie Rod End Right17CT0601
3812 E1Axial Joint20CT0600

26PE0600 5087 59Stabiliser Link



CITROËN
C4
                                                                                        
C4 I (LC)                                                                                            11/2004 - 07/2011
C4 COUPE (LA)                                                                                    

NO ASMETAL CODE MEASURES OEMDESCRIPTION

9 9

-> ORG 10311

NO

ORG 10311 ->

5
3 2

44

6

20PE0800

20PE0805 20PE0805

17PE0501

17PE1502 17PE1502

17PE0500
20PE0800

26PE0800

2 3817 42Tie Rod End Right c:Ø12,12 th:MM14x1,5 RHT 
c:Ø12,12 th:MM14x1,5 RHT 
c:Ø11,95 th:MM14x1,5 RHT 
th:MM14x1.5 RHT L:321,5mm 
th:MM14x1,5 RHT L:342,5mm
L:335mm 
 

17PE0500
3 3817 41Tie Rod End Left17PE0501
4 3817 50Tie Rod End17PE1502
5 3812 E0Axial Joint20PE0800
6
9

3812 E5
5087 77

Axial Joint
Stabiliser Link

20PE0805
26PE0800

26PE0800



CITROËN
C4
                                                                                        
C4 I (LC)                                                                                            11/2004 - 07/2011
C4 COUPE (LA)                                                                                    

NO ASMETAL CODE MEASURES OEMDESCRIPTION

7 8

1 1

11

10

23PE0800

> ORG 10884/EXC.COUPE
> ORG 10884/EXC. COUPE

10PE1003

23PE0801

38PE0800

38PE0605

10PE1003

1 3640 68Ball Joint th:M14x1.5 RHT  cp:1/8 cs:Ø15,6 th2:M38x1.5 RHT

di:Ø14,1 do:Ø55,3 

di:Ø14,2 do:Ø55 

10PE1003
7 3520 K8TCA Left23PE0800
8 3521 G8TCA Right23PE0801
10 3523 92Silentblock for TCA38PE0605
11 3523 91Silentblock for TCA38PE0800



CITROËN
C4
                                                                                        
C4 II (B7)                                                                                                     11/2009 -->

                                                                                    

NO ASMETAL CODE MEASURES OEMDESCRIPTION

5 5

4 32 3

7 7

26PE1105

17PE1105 17PE1106

38PE0800

6

38PE0605

1

10PE1003

38PE0800

6

38PE0605

1

10PE1003

20PE1107 20PE1107

26PE1105

1 3640 68Ball Joint th:M14x1.5 RHT  cp:1/8 cs:Ø15,6 th2:M38x1.5 RHT 

c:Ø12 th:FM14x1,5 RHT 
c:Ø12 th:FM14x1,5 RHT 
th:MM14x1,5 RHT L:276mm 
L:334mm  
di:Ø14,1 do:Ø55,3 
di:Ødi:Ø14,2 do:Ø55 

10PE1003
2 3817 89Tie Rod End Left17PE1105
3 3817 88Tie Rod End Right17PE1106
4 3812 F2Axial Joint20PE1107
5
6

7

 5087 64
3523 92
3523 91

Stabiliser Link
Silentblock for TCA
Silentblock for TCA

26PE1105
38PE0605
38PE0800



CITROËN
                                                                                        
C4 CACTUS                                                                                                  06/2014 -->

C4

NO ASMETAL CODE MEASURES OEMDESCRIPTION

5 5

42

6 6

11

3

26PE0600

17PE0400

38CT0300

10CT0610 10CT0610

17PE0401
20PE0400 20PE0400

26PE0600

38CT0300

1 3640 77Ball Joint c:Ø18    
c:Ø 12,1 th:FM14x1,5 RHT 
c:Ø 12,1 th:FM14x1,5 RHT 
th:MM12x1.0 RHT L:225mm 
L:335mm  
di:Ø18 do:Ø55,3 

10CT0610
2 16 080 251 80Tie Rod End Left17PE0400
3 16 080 252 80Tie Rod End Right17PE0401
4 16 108 176 80Axial Joint20PE0400
5
6

5087 59
3523 EA

Stabiliser Link
Silentblock for TCA

26PE0600
38CT0300



CITROËN
                                                                                        
C4 PICASSO (UD)                                                                                02/2007 - 08/2013
C4 GRAND PICASSO (UA)                                                                     10/2006 - 08/2013

C4

4 4

38PE0800

38PE0605

2 3

11

6

5

10PE1003

NO ASMETAL CODE MEASURES OEMDESCRIPTION

10PE1003

26PE1105

23PE0800 23PE0801

26PE1105

1 3640 68Ball Joint th:M14x1.5 RHT  cp:1/8 cs:Ø15,6 th2:M38x1.5 RHT 

   
   
L:334mm  
di:Ø14,1 do:Ø55,3 
di:Ø14,2 do:Ø55 

10PE1003
2 3520 K8TCA Left23PE0800
3 3521 G8TCA Right23PE0801
4  5087 64Stabiliser Link26PE1105
5
6

3523 92
3523 91

Silentblock for TCA
Silentblock for TCA

38PE0605
38PE0800



CITROËN
                                                                                        
C5 I                                                                                         

C5

NO ASMETAL CODE MEASURES OEMDESCRIPTION

5 5

4

6

1

2 3

26PE2502

17CT0800 17CT0801

20CT0800

38CT010038CT0100

10PE200010PE2000

20CT0800

26PE2502

1 3640 71Ball Joint th:M14x1.5 RHT  cp:1/8 cs:Ø15,9 th2:M40x1.5 RHT 

c:Ø11,9 th:MM16x1,5 RHT 
c:Ø11,9 th:MM16x1,5 RHT 
th:MM16x1,5 RHT L:182mm 
L:320mm  
di:Ø17,9  

10PE2000
2 3817 59Tie Rod End Left17CT0800
3 3817 60Tie Rod End Right17CT0801
4 3812 C8Axial Joint20CT0800
5
6

5087 60
3523 95

Stabiliser Link
Silentblock for TCA

26PE2502
38CT0100



CITROËN
                                                                                        
C5 II (RC)                
C5 II Break (RE)

08/2004 - 01/2008
08/2004 - 01/2008

C5

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 3640 71Ball Joint th:M14x1.5 RHT  cp:1/8 cs:Ø15,9 th2:M40x1.5 RHT 

c:Ø11,9 th:MM16x1,5 RHT 
c:Ø11,9 th:MM16x1,5 RHT 
th:MM16x1,5 RHT L:182mm 
L:320mm  
L:141mm  
di:Ødi:Ø17,9  

10PE2000
2 3817 59Tie Rod End Left17CT0800
3 3817 60Tie Rod End Right17CT0801
4 3812 C8Axial Joint20CT0800
5
6

5087 60
5178 46

Stabiliser Link  
Stabiliser Link Rear

26PE2502
26PE4703

7 3523 95Silentblock for TCA38CT0100

5 5

7 7

6 6

11

26PE2502 26PE2502

4

20CT0800

38CT0100

17CT0800 17CT080120CT0800

2 3

38CT0100

10PE2000 10PE2000

26PE470326PE4703

Only for - CITROËN C5 II Break (RE) 2.2 HDi



CITROËN
                                                                                        
C5 III                                                                                                          02/2008 -->                                                                                         

C5

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 3640 70Ball Joint th:M14x1.5 RHT  cp:1/6 cs:Ø18 th2:M42x1.5 RHT 

L:200,5mm  
L:200,5mm  
L:141mm  
di:Ø20  

10PE4700
2 5087 52Stabiliser Link Left26PE4700
3 5087 53Stabiliser Link Right26PE4701
4 5178 46Stabiliser Link Rear26PE4703
5 3520 X6*Silentblock for TCA38CT0110

2 3

5 5

1 1

26PE4700 26PE4701

38CT0110

10PE4700 10PE4700

4 4

26PE470326PE4703

38CT0110



CITROËN
                                                                                        
C6 (TD)                                                                                                        09/2005 -->                                                                                 

C6

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 3640 70Ball Joint10PE4700
2 3812 E7Axial Joint th:M16x1.5 RHT L:105 mm

M14x1.5 RHT 1/6 Ø 18

L:200,5 mm
L:200,5 mm
L:141 mm

20PE4700
3 5087 52Stabiliser Link Left26PE4700
4 5087 53Stabiliser Link Right26PE4701
5 5178 46Stabiliser Link Rear26PE4703

3 4

2

1

26PE4700 26PE4701

20PE4700

10PE4700 10PE4700

5 5

26PE470326PE4703

20PE4700



CITROËN
                                                                                        
C-ELYSEE                                                                                                     11/2012 -->                                                                            

C-ELYSEE

C-Zero 10/2010 -->

C-Zero

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 3640 70Ball Joint c:Ø18    
c:Ø12,1 th:FM16x1,5 RHT 
c:Ø12,1 th:FM16x1,5 RHT 
th:MM12x1.0 RHT L:230mm 
L:329mm  
L:329mm  
di:Ødi:Ø14,2 do:Ø56,6 
di:Ø14,2 do:Ø56,6 

10CT0610
2 3817 67Tie Rod End Left17PE0900
3 3817 68Tie Rod End Right17PE0901
4 16 086 521 80Axial Joint20CT1200
5 5087 68Stabiliser Link Right26PE0900
6 5067 69Stabiliser Link Left26PE0901
7 3523 CCSilentblock for TCA38CT0310
8 3523 CESilentblock for TCA38CT0311

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 3817 A6 Tie Rod End 17MT1500 

20CT1200 20CT120017PE0900
4

1

2 3

17PE0901

26PE0901 26PE0900

6 5

38CT0311

8

11

10CT0610 10CT0610

38CT0310

7

17MT1500 17MT1500



CITROËN
                                                                                        
DISPATCH (U6U)                                                                                  06/1994 - 01/2007                                                       

DISPATCH

DISPATCH (VH7) 01/2007 ->
 ->

26FI5100

17FI5100

20FI5100 20FI5100

17FI5100

26FI5100

26CT1000

2

3

1 1

1

20CT1000 17CT1000

1

17CT1000 20CT1000
2

3

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 4059 09 Tie Rod End c:Ø12,6 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:306mm 

  

17FI5100
2 3812 A4Axial Joint20FI5100

3 5087 35 Stabiliser Link  26FI5100

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

3817 73 

3812 F0 

5087 56 

Tie Rod End 

Axial Joint 

Stabiliser Link 

17CT1000 

20CT1000 

26CT1000 

DISPATCH (V_) 04/2016 ->
 ->

5

3

20PE5000
2

17PE5000
20PE5000

4

26PE5000 26PE5000
17PE5001

1

10PE5000

1

10PE5000

5

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

98 186 555 80 

98 203 400 80 

98 203 401 80 

98 203 402 80* 

98 090 901 80 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

10PE5000 

17PE5000 

17PE5001 

20PE5000 

26PE5000 

26CT1000



                                                                                        
DS3 (Citroen)                                                                                     11/2009 - 07/2015
DS3 Convertible (Citroen)                                                                    01/2013 - 07/2015
DS3 (DS)                                                                                            07/2015 --> 
DS3 Convertible (DS)                                                                           07/2015 -->                                                  

CITROËN
DS

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2 3640 77Ball Joint c:Ø18
c:Ø12,2 th:FM14x1,5 RHT 
c:Ø12,2 th:FM14x1,5 RHT 
c:Ø12,1 th:FM16x1,5 RHT 
c:Ø12,1 th:FM16x1,5 RHT 
th:MM12x1.0 RHT L:244mm 
L:335mm L:335mm  
L:329mm  
L:329mm  
di:Ø18 do:Ø55,3 
   

Tie Rod End Left
Tie Rod End Right

10CT0610
3817 9217CT0610
3817 9117CT0611

4

3817 67 Tie Rod End Left17PE0900
17PE0901
20CT0610
26PE0600
26PE0900
26PE0901
38CT0300

5
6
7
8
9
10
11
12

3817 68 
3812 F6
5087 71
5087 68
5087 69
3523 EA

Tie Rod End Right
Axial Joint 
Stabiliser Link 
Stabiliser Link Right
Stabiliser Link Left
Silentblock for TCA

26PE0901 26PE090026PE0600

11

26PE0600

109

20CT0610 20CT0610
17CT0611

17CT0610

4

6

8

5

7

17PE0900 17PE0901

1.2 THP 81KW - 110PK

10CT0610 10CT0610

2 2

38CT0300

12



                                                                                        
DS3 (Citroen)                                                                                     11/2009 - 07/2015
DS3 Convertible (Citroen)                                                                    01/2013 - 07/2015
DS3 (DS)                                                                                            07/2015 --> 
DS3 Convertible (DS)                                                                           07/2015 -->                                                  

CITROËN
DS

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 3640 65Ball Joint c:Ø18    
c:Ø18    
di:Ø14,2 do:Ø56,6 
di:Ø14,2 do:Ø56,6 

Ball Joint
Silentblock for TCA

10CT0600
3640 7810PE0400
3523 CC38CT0310

3

3523 CESilentblock for TCA38CT0311
13
14

38CT0310

1 113

10CT0600 10CT0600

1.4 VTI AUTOMATIC AT6

38CT0311 38CT0311

14

10PE0400 10PE0400

3 3



NO

ASMETAL CODE MEASURES OEMDESCRIPTION

CITROËN
                                                                                        
DS4 (CITROEN)                                    04/2011 - 07/2015
DS4 (DS)                                    07/2015 ->
DS4 CROSSBACK (DS)                                                            07/2015 ->

DS

1

2

3

4

5

6

77

8

9

3640 68 

3817 73 

3817 89 

3817 88 

3812 F2 

5087 64 

3523 3523 76 

3523 92 

3523 91 

Ball Joint 

Tie Rod End 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Silentblock Silentblock for TCA 

Silentblock for TCA 

Silentblock for TCA 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,6 th2:M38x1.5 RHT

THP/HDI165 
c:Ø12 th:FM14x1,5 RHT
c:Ø12 th:FM14x1,5 RHT
th:MM14x1,5 RHT L:276mm
L:334mm 

di:Ødi:Ø14,1 do:Ø55

di:Ø14,1 do:Ø55,3

di:Ø14,2 do:Ø55

10PE1003 

17CT1000 

17PE1105 

17PE1106 

20PE1107 

26PE1105 

38PE060038PE0600 

38PE0605 

38PE0800 

26PE1105

17PE1105
20PE1107 20PE1107

38PE0800

38PE0605

38PE0600

10PE1003 10PE1003

17PE1106

17CT1000

26PE1105

6 6

5

9

8 11

7

43

2

17CT1000

THP/HDI165 THP/HDI165

2

NO



CITROËN
                                                                                        
DS5 (CITROEN)                                                                                   04/2011 - 07/2015
DS5 (DS)                                                                                           07/2015 ->

DS

NO ASMETAL CODE MEASURES OEMDESCRIPTION

26PE1105 26PE1105

3 3

38PE0800

38PE0605

38PE0600

10PE1003 10PE1003

6

5 11

4

1

2

3

4

5

6

3640 68 

3817 73 

5087 64 

3523 76 

3523 92 

3523 91 

Ball Joint 

Tie Rod End 

Stabiliser Link 

Silentblock for TCA 

Silentblock for TCA 

Silentblock for TCA 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,6 th2:M38x1.5 RHT 

L:334mm  

di:Ø14,1 do:Ø55 

di:Ø14,1 do:Ø55,3 

di:Ø14,2 do:Ø55 

10PE1003 

17CT1000 

26PE1105 

38PE0600 

38PE0605 

38PE0800 

17CT1000

2

17CT1000

2



CITROËN

NO ASMETAL CODE MEASURES OEMDESCRIPTION

                                                                                        
EVASION (22, U6)                                                                                 06/1994  07/2002
                                                                                

EVASION

1 4059 09 Tie Rod End c:Ø12,6 th:FM14x1,5 RHT 
th:MM14x1.5 RHT L:306mm 
  

17FI5100
20FI5100
26FI5100

2
3

3812 A4
5087 35 

Axial Joint
Stabiliser Link  

26FI5100

17FI5100

20FI5100 20FI5100

26FI5100

3

2 11

17FI5100



NO ASMETAL CODE MEASURES OEMDESCRIPTION

CITROËN

JUMPER I Box (230L)
JUMPER I Bus (230P)
JUMPER I Platform/Chassis (230)

03/1994 - 04/2002

JUMPER

1 3640 32Ball Joint th:M16x1.5 RHT  cp:1/8 cs:Ø17  
th:M18x1.5 RHT  cp:1/10 cs:Ø19,5  
th:M16x1.5 RHT  cp:1/6 cs:Ø17  
th:M18x1.5 RHT  cp:1/6 cs:Ø19,8  
c:Ø14,4 th:FM16x1,5 RHT 
th:MM16x1,5 RHT L:315mm 
 

Ball Joint
Ball Joint

10FI3002
3640 3310FI3003
3640 5510FI3004

2

3640 54Ball Joint10FI3005
17FI3200
20FI3200
526PE0500

3
4
5
6
7

4018 A3
4018 A4
5087 37

Tie Rod End
Axial Joint
Stabiliser Link  

526PE0500

17FI3200

7

6

5

1 1

2 2

3 3

5

526PE0500

17FI320020FI3200 20FI3200

10FI3002

10FI3003

10FI3002

1.0-1.4 T

1.8 T

4 4

1.0-1.4 T - 02/2001 >

1.8 T - 02/2001 >

10FI3003

10FI3004

10FI3005 10FI3005

10FI3004



CITROËN

JUMPER II Box (244)
JUMPER II Bus (244, Z_)
JUMPER II Platform/Chassis (244)

04/2002 - 06/2006

526PE0500

17FI3200

6

5
3 3

4 4

526PE0500

17FI320020FI3200 20FI3200

5

20FI3200
17FI3205

20FI3200

1 1

2 2

1.0-1.4 T

1.8 T

10FI3004

10FI3005 10FI3005

10FI3004

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 3640 55Ball Joint th:M16x1.5 RHT  cp:1/6 cs:Ø17  

th:M18x1.5 RHT  cp:1/6 cs:Ø19,8  

c:Ø14,4 th:FM16x1,5 RHT 

c:Ø16,6 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:315mm 

 

Ball Joint

Tie Rod End

10FI3004

3640 5410FI3005

4018 A317FI3200

2

4018 E0Tie Rod End17FI3205

20FI3200
526PE0500

3

4

5
6

4018 A4
5087 37

Axial Joint
Stabiliser Link

JUMPER

17FI3205

CHAS. 17175291 -->CHAS. 17175291 -->

--> CHAS. 17175290--> CHAS. 17175290



CITROËN

JUMPER III Box
JUMPER III Bus
JUMPER III Platform/Chassis

04/2006 ->
04/2006 ->
04/2006 ->

526PE1000

17FI3210 17FI321120PE0700

10FI3210 10FI3210

26FI3210

20PE0700

7

6

4

2

1 1

11

2 3

5

3

526PE1000

38CT1000  

26FI510026FI5100

17FI5100 17FI5100
20FI5100 20FI5100

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 3640 67 Ball Joint th:M16x1.5 RHT  cp:1/6 cs:Ø20,5  
c:Ø16,7 th:FM16x1,5 RHT 
c:Ø16,7 th:FM16x1,5 RHT 
th:MM16x1,5 RHT L:260mm 
 
di:Ø19,7 do:Ø74,4 

Tie Rod End Left
Tie Rod End Right

10FI3210
16 109 764 8017FI3210
16 109 763 8017FI3211

2

4001 A1Axial Joint20PE0700
26FI3210 
38CT1000 

3
4
5
6

135 54 49 080* 

50705198 

5081 N9 

Stabiliser Link Rear 

Control Arm-/Trailing Arm Bushing 

Stabiliser Link 526PE1000 7

                                                                                        
JUMPY (U6U)                                                                                       06/1994 - 01/2007

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 4059 09 Tie Rod End c:Ø12,6 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:306mm 

  
Axial Joint

Stabiliser Link

17FI5100

3812 A420FI5100

5087 35 26FI5100

2
3

JUMPER

JUMPY

Org Nu. To --> 09792

26FI3210



CITROËN

17PE1502 17PE1502

26CT1000

20PE03
20PE03

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

3817 50Tie Rod End c:Ø11,95 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:317,5mm 
17PE15021

2 381295Axial Joint20PE03

NO ASMETAL CODE MEASURES OEMDESCRIPTION

3817 73 

3812 F0 

5087 56 

Tie Rod End 

Axial Joint 

Stabiliser Link 

17CT1000 

20CT1000 

26CT1000 

1

2

3

1

3

2 1

1

JUMPY (VF7) 01/2007 -->

JUMPY

NO ASMETAL CODE MEASURES OEMDESCRIPTION

98 186 555 80 

98 203 400 80 

98 203 401 80 

98 203 402 80* 

98 090 901 80 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

10PE5000 

17PE5000 

17PE5001 

20PE5000 

26PE5000 

1

2

3

4

5

JUMPY (V_)
JUMPY Spacetourer (V_)

04/2016 -->
04/2016 -->

                                                                                        
LNA                                                                                                   11/1976 - 10/1986

LNA

20CT1000
17CT1000

1

17CT1000
20CT1000

26PE5000

5

4 3
20PE5000

17PE5001

2

17PE5000
20PE5000

5

10PE5000

1

10PE5000

1

26CT1000

3

26PE5000



CITROËN

NO ASMETAL CODE MEASURES OEMDESCRIPTION

26FI3505

352 087 

3817 86 

3817 87 

4001 77 

5087 79 

16 109 420 80 

116 109 421 80 

518 92 271 

3520 W3 

16 092 747 80 

16 092 746 80 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

TCA Left 

TTCA Right 

Silentblock for TCA 

Silentblock for TCA 

Strut Mount Left 

Strut Mount Right 

c:Ø16    

c:Ø11,7 th:FM14x1,5 RHT 

c:Ø11,7 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:274mm 

L:290mm  

do:Ø71,5  

10FI3505 

17FI3505 

17FI3506 

20FI3505 

26FI3505 

30FI3505 

30FI350630FI3506 

38FI5506 

38FI5507 

45FI3505 

45FI3506 

1

2

3

4

5

6

77

8

9

10

11

5 11

4

2

1 1

9

8

3

                                                                                        
NEMO Box (AA_)                                                                                            02/2008 -->
NEMO Estate                                                                                    

NEMO

26FI3505

45FI3506

20FI3505

38FI5507

38FI5506

10FI3505 10FI3505

17FI3505 17FI350620FI3505

7

30FI3506

--> 05/2010 

--> 05/2010 

--> 05/2010 

6

30FI3505

10

45FI3505



CITROËN

NO ASMETAL CODE MEASURES OEMDESCRIPTION

75 492 489Ball Joint th:M10x1.25 RHT  cp:1/6 cs:Ø11,8 do:Ø38,4 

th:M10x1.25 RHT  cp:1/6 cs:Ø11,8 do:Ø36,4 

c:Ø10,6 th:MM14x1,5 RHT 

th:MM12x1 RHT L:156mm 

 

10CT10011
2 75 492 458Ball Joint10CT1005

Tie Rod End17CT103
4 75 492 108*Axial Joint20CT10

Stabiliser Link29CT105 75 492 108

75 492 108*

4

29CT10 29CT10

5

3

2 2

3

1

                                                                                        
OLTCIT                                                                                                10/1981 - 03/1991

17CT10 17CT10
20CT10 20CT10

10CT1001 10CT1001

10CT1005 10CT1005

OLTCIT



CITROËN
                                                                                        
RELAY Box (230L)                                   03/1994 - 04/2002
RELAY Bus (230P)                                 
RELAY Platform/Chassis (230)
                                                          

RELAY

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 3640 32Ball Joint th:M16x1.5 RHT  cp:1/8 cs:Ø17  
th:M18x1.5 RHT  cp:1/10 cs:Ø19,5  
th:M16x1.5 RHT  cp:1/6 cs:Ø17  
th:M18x1.5 RHT  cp:1/6 cs:Ø19,8  
c:Ø14,4 th:FM16x1,5 RHT 
th:MM16x1,5 RHT L:315mm 
 

Ball Joint
Ball Joint

10FI3002
3640 3310FI3003
3640 5510FI3004

2

3640 54Ball Joint10FI3005
17FI3200
20FI3200
526PE0500

3
4
5
6
7

4018 A3
4018 A4
5087 37

Tie Rod End
Axial Joint
Stabiliser Link  

526PE0500

17FI3200

7

6

5

1 1

2 2

4 4

3 3

5

526PE0500

17FI320020FI3200 20FI3200

10FI3002

10FI3003

10FI3002

1.0-1.4 T

1.8 T

1.0-1.4 T - 02/2001 >

1.8 T - 02/2001 >

10FI3003

10FI3004

10FI3005 10FI3005

10FI3004



CITROËN
                                                                                        
RELAY Box (244)                                   04/2002 - 06/2006
RELAY Bus (244, Z_)                                 
RELAY Platform/Chassis (244)
                                                          07/2015 ->

526PE0500

17FI3200

6

5

3 3

4 4

526PE0500

17FI3200
20FI3200 20FI3200

5

20FI320017FI3205 20FI3200

1 1

2 2

1.0-1.4 T

1.8 T

10FI3004

10FI3005 10FI3005

10FI3004

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 3640 55Ball Joint th:M16x1.5 RHT  cp:1/6 cs:Ø17  
th:M18x1.5 RHT  cp:1/6 cs:Ø19,8  
c:Ø14,4 th:FM16x1,5 RHT 
c:Ø16,6 th:FM16x1,5 RHT 
th:MM16x1,5 RHT L:315mm 
 

Ball Joint
Tie Rod End

10FI3004
3640 5410FI3005
4018 A317FI3200

2

4018 E0Tie Rod End17FI3205
20FI3200
526PE0500

3
4
5
6

4018 A4
5087 37

Axial Joint
Stabiliser Link

17FI3205

CHAS. 17175291 -->CHAS. 17175291 -->

--> CHAS. 17175290--> CHAS. 17175290

RELAY



CITROËN

NO ASMETAL CODE MEASURES OEMDESCRIPTION

                                                                                        
RELAY Box                                              04/2006 ->
RELAY Bus                                 
RELAY Platform/Chassis
                                                        

526PE1000

6

526PE1000

1

2

3

4

5

6

3640 67  

16 109 764 80 

16 109 763 80 

4001 A1 

135 54 49 080* 

5081 N9 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link Rear 

Stabiliser Link 

th:M16x1.5 RHT  cp:1/6 cs:Ø20,5  
c:Ø16,7 th:FM16x1,5 RHT 
c:Ø16,7 th:FM16x1,5 RHT 
th:MM16x1,5 RHT L:260mm 
 
 

10FI3210 

17FI3210 

17FI3211 

20PE0700 

26FI3210 

526PE1000 

17FI3210 17FI321120PE0700 20PE0700

4

2 3

5

10FI3210 10FI3210

26FI3210

1

RELAY

26FI3210



NO ASMETAL CODE MEASURES OEMDESCRIPTION

4 4

2 3

1 1

26CT0200

17PE0500

10PE2500

17PE0501

26CT0200

1 3640 36Ball Joint do:Ø36,9 
c:Ø12,12 th:MM14x1,5 RHT 
c:Ø12,12 th:MM14x1,5 RHT 
L:309,5mm  

Tie Rod End Left
Tie Rod End Right

10PE2500
3817 4117PE0500
3817 4217PE0501

2

5087 40Stabiliser Link26CT0200
3
4

                                                                                        
SAXO                                                                                                  05/1996 -10/2003

SAXO
CITROËN

10PE2500



NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 4059 09 Tie Rod End c:Ø12,6 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:306mm 

  

17FI5100
20FI5100
26FI5100

2
3

3812 A4
5087 35 

Axial Joint
Stabiliser Link  

                                                                                        
SYNERGIE (22,U6)                                                                               06/1994 - 07/2002

SYNERGIE
CITROËN

26FI5100

17FI5100

20FI5100 20FI5100

26FI5100

3

2 11

17FI5100



ALL EXC. Convertible

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 3817 50Tie Rod End c:Ø11,95 th:MM14x1,5 RHT 
th:MM12x1.0 RHT L:317,5mm 
c:Ø15,95   
c:Ø15,95   
  

17PE1502
20PE03
23PE1000
23PE1001
26PE0100

2
3
4
5

96 136 394
3520 51
3521 34
5087 32 

Axial Joint
TCA Left
TCA Right
Stabiliser Link  

                                                                                        
VISA                                                                                                  09/1978 - 03/1991

VISA
CITROËN

26PE0100

55

26PE0100

17PE1502 17PE1502
20PE03

23PE1000 23PE1001

Only Diesel/GTI Only Diesel/GTI

20PE03

2

11

43



NO ASMETAL CODE MEASURES OEMDESCRIPTION

2 3817 41Tie Rod End Left c:Ø12,12 th:MM14x1,5 RHT 
c:Ø12,12 th:MM14x1,5 RHT 
th:MM12x1.0 RHT L:317,5mm 
L:320mm  
L:309,5mm  
  

17PE0500
17PE0501
20PE03
26PE2502
26CT0200

26CT0400

3
4
6
7

8

3817 42
96 136 394
5087 60
5087 40

96 145 457

Tie Rod End Right
Axial Joint
Stabiliser Link
Stabiliser Link  

Stabiliser Link  

                                                                                        
XANTIA                                                                                              03/1993 - 04/2003

XANTIA
CITROËN

88

20PE03

EXC. 2.0 TURBO  3.0V6  2.0HDI  2.1TD

20PE03

4

6

7 7

26PE2502 26PE2502

1999>

>1996>1996

1999>

1996>1999 1996>1999

26CT0200

26CT040026CT0400

26CT0200

2 3

17PE0500 17PE0501



NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 3640 71Ball Joint th:M14x1.5 RHT  cp:1/8 cs:Ø15,9 th2:M40x1.5 RHT

th:MM12x1.0 RHT L:314,5mm
10PE2000
20PE25005 3812 A9Axial Joint

                                                                                        
XANTIA                                                                                              03/1993 - 04/2003

XANTIA
CITROËN

20PE2500

2.0 TURBO  3.0V6  2.0HDI  2.1TD

20PE2500

10PE2000 10PE2000

5

1 1



CITROËN
XM

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
2

3640 71
3817 41Tie Rod End Left

Ball Joint th:M14x1.5 RHT  cp:1/8 cs:Ø15,9 th2:M40x1.5 RHT 

c:Ø12,12 th:MM14x1,5 RHT 

c:Ø12,12 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:296mm 

L:318mm  

10PE2000
17PE0500

3 3817 42Tie Rod End Right17PE0501
4

5

3812 99

96 080 894

Axial Joint

Stabiliser Link

20PE0500

26CT0100

                                                                                        
XM (Y3, Y4)                                                                                        05/1989 - 10/2000
XM BREAK                                                                                 11/1991 - 10/2000

M14 

26CT0100

5

1

4
2 3

26CT0100

20PE0500
17PE0500

10PE2000

17PE0501

10PE2000

20PE0500



CITROËN

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
4
5
6
7
8

3520 H5
3817 50 
3812 C0 
5087 46
3521 E6
3520 H6 

Ball Joint c:Ø16   
c:Ø11,95 th:MM14x1,5 RHT 
th:MM12x1.0 RHT L:334mm 
L:300mm  
 
 

Tie Rod End

TCA Left
TCA Right

Axial Joint
Stabiliser Link

10CT0100
17PE1502
20PE1100
26CT0300
30CT1015
30CT1016

6

5

44

11

MS - Ø16

8 7

                                                                                        
XSARA                                                                                              04/1997 - 08/2005

26CT030026CT0300

20PE1100 20PE1100

30CT1015

10CT010010CT0100

30CT1016

17PE1502 17PE1502

v

XSARA



CITROËN

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2
3
9
10
11
12

13
14

3520 H5*
3640 51

 3521 E6*
3520 H6 *
3521 71 
3520  A1 
3523 75
3523 75*

Ball Joint c:Ø16    

c:Ø18    

di:Ø18,7  

di:Ø18,7  

Ball Joint

TCA Left
TCA Right

Silentblock for TCA
Silentblock for TCA

TCA Right
TCA Left

10CT0200
10PE1100
30CT1020
30CT1021
30PE1030
30PE1031

38CT0208
38CT0210

22

MS - Ø18

10 9

                                                                                        
XSARA                                                                                              04/1997 - 08/2005

30CT1020

10CT0200 10CT0200

30CT1021

V

33

MS - Ø18

12 11

13 14

30PE1030

10PE1100 10PE1100

30PE1031

38CT0208 38CT0210

XSARA



CITROËN

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1
4
5
6
7
8

3520 H5
3817 50 
3812 C0 
5087 46
3521 E6
3520 H6 

Ball Joint
Tie Rod End c:Ø11,95 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:334mm 

L:300mm  

 

 
TCA Left
TCA Right

Axial Joint
Stabiliser Link

10CT0100
17PE1502
20PE1100
26CT0300
30CT1015
30CT1016

6

5

44

11

MS - Ø16

8 7

                                                                                        
XSARA PICASSO (N68)                                                                                   12/1999 ->

XSARA PICASSO

26CT030026CT0300

20PE1100 20PE1100

30CT1015

10CT010010CT0100

30CT1016

17PE1502 17PE1502
v



CITROËN

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2
3
9
10
11
12

13
14

3520 H5*
3640 51

 3521 E6*
3520 H6 *
3521 71 
3520  A1 
3523 75
3523 75*

Ball Joint
Ball Joint

TCA Left
TCA Right

Silentblock for TCA
Silentblock for TCA di:Ø18,7  

di:Ø18,7  

TCA Right
TCA Left

10CT0200
10PE1100
30CT1020
30CT1021
30PE1030
30PE1031

38CT0208
38CT0210

22

MS - Ø18

10 9

                                                                                        
XSARA PICASSO (N68)                                                                                   12/1999 ->

30CT1020

10CT0200 10CT0200

30CT1021

V

33

MSPS Ø18

12 11

13 14

30PE1030

10PE1100 10PE1100

30PE1031

38CT0208 38CT0210

XSARA PICASSO



NO ASMETAL CODE MEASURES OEMDESCRIPTION

CITROËN

1
2
3
4
5
6

7
8

3520 H5
3817 50 
3812 C0 
5087 46
3521 E6
3520 H6 

3523 75
3523 75*

Ball Joint
Tie Rod End

TCA Left
TCA Right

Silentblock for TCA
Silentblock for TCA

Axial Joint
Stabiliser Link

10CT0100
17PE1502
20PE1100
26CT0300
30CT1015
30CT1016
38CT0208

38CT0210

                                                                                        
ZX                                  03/1991 - 06/1997
ZX BREAK                                   10/1993 - 10/1997

3

22

7 8

38CT0208 38CT0210

11

4

ORG 05684  >  ALL--

6 5

26CT030026CT0300

20PE1100 20PE1100

30CT1015

10CT010010CT0100

30CT1016

17PE1502 17PE1502
v

ZX


